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T pisy Alechol debedratien and alkene hydeation is an squilibriun process.

¢ Supgest conditions that faver cvelopentene.

= uggest conditians that favor eyvelopentanal
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Bra = C1L;,CH=CHCH; — CH;CHBrCTBeCH,
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What is the product of the reaction of Brz with:
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Bra + trans-CIHLCH=CHCH, — ?
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o 013 pts) What 15 the mechanism for the addition of Br: addition in CCL, solvent?
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3. 010 ptsp What is the mechanism for the fllowing rearrangement?
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4o (A0 prsd Propose 2 synthesis for each of the following.

. XDH
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(15 pis) What is be mechansn far e ollowd
mechaniam for the following lranstormation !
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B 120 prat What are products of the Fellowing reactions?
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